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Notes 14.3: Binomial Theorem & Probability

A binomial experiment has:
exactly two outcomes,

a fixed number of trials,
independent outcomes for each trial,
the same probabillity for each trial.
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3-14 m Binomial Trials Five independent trials of a binomial
experiment with probability of success p = 0.7 are performed.
Find the probability of each event.
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7. Exactly one success 013756 @ 12 2,775/5

9. At least four successes
11. At most one failure

13. At least two successes 14. At most three failures
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